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1. 3% Rewd AR Seiea/ere Moy Be1 f .
1x8=8
Choose the correct option / Answer the
following :

(a) TEs AZ Bemm 2o
Net National Product (NNP) is
() T B Beor + wT SR W
GNP + Depreciation Cost
(i) 6 A e - 21 ©oFR W
GNP - Depreciation Cost

P9/532 ( Turn Over )



(2)

(iti) 5 BT T — TOALT + S-S
GNP - Dividend + Subsidy
(iv) 35 TBW B - oicarE AR =1

GNP - Indirect Business Tax

(b) T ALIHAT TS, W{ T

During deflation, price level

(i) 3P |’
falls

(ii) 3 =
rises

(iii) AT JEES A=
remains constant

() T FFOI AFF ‘YT AW SERger’ 3
T W7

Which of the following banks is termed
as ‘the lender of the last resort’™?

i) affess _RT

Commercial bank

(i) TR QR
Cooperative bank

(ifi) SEFT AW AT
Regional rural bank

(iv) T QAT
Central bank
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(3)

(d) difEs TAcee TSl 2E

Marginal propensity to consume is

: 0oL
(i) <
(i) -’%
) %

(e) T ISR FTSl TGl (A ISR ?

Who propounded the purchasing power
parity theory?

() SReRe TrR SR 2

Liberalization in India was started in

the year
(i) Sseed IS
1951
(i) Sdbd BIO
1981
(iif) 55> BTG
1991
(iv) S590 BIS
1930
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(4)

() TIRABE IS [ R wgH TeEA
hfea

The absolute advantage theory of
international trade was propounded by

M &R @
J. B. Say
(i) c&. 9= fi=
J. S. Mill
(iii) S [Zre’
David Ricardo
(iv) s o
Adam Smith

() =R wE e &7

What is per capita income?

2. wod i @A BB 5 Gt o (aifeht 150 =i
feee) : 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(a) TS ST 7 oz

Main issues of macroeconomics

(b) ViSRS WS W IEEhe TarHifS
Demand-pull inflation and cost-push
inflation
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(S)

c) e Afdeg i

World Trade Organization

(d) = QTN TRTIE
Objectives of rural bank

(e} -~ TE AFH
Absolute income hypothesis

wore fE epaRd e fordt (af¥ehT 500 < feve) -

Answer the following questions (within 500 words
each) :

3. (@ T WOW Teyrm WA 52 P WO T
o P R T T PR TEd
11 P WO Teor A I TR I
1 2+4+6=12

What is GNP? Mention the differences
between GNP and GDP. Explain the
methods of calculating GNP.

we[r/ Or
(p) o o aRArER E f 3x4=12

Define the following concepts :

(i) AT S

National Income

(ii) T T T
Gross Domestic Product
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4. {(a)

(b)

P9/532

(6)

(iti) oFS TFA TeAHA
Real Domestic Product

(iv) IS I/ =@

Disposable Personal Income

TR A fim | Wy ad@ites wR gy
THA SCABA T | 3+8=11

Define money. Discuss the significance
of money in modern economy.

HYqr/ Or

TR OE e R oIme qmR ofwe

SR AW T ARRW DA
HISECeHEI | 1+10=11
What do you mean by <value of money’?
Critically discuss the cash balance

approach to the quantity theory of
money.

Topgarsl T 1, AR SEES e w9 oo
Toigo1sl oSl W AT B9 Ao TS
el Ay 341 | 5+6=11
Illustrate diagrammatically the concept
of consumption function. Distinguish

between average propensity to consume
and marginal propensity to consume.
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(7)

-_{q/ Or

(b) TR AT W Soe SGCH SN 4 - 11

Discuss the Keynesian theory of
employment and income.

6. () TLASe Twwe ARG @ PR TM
el 11

Explain the role of commercial bank in
economic development.

wqr/ Or

B @EY @R wF AR Q@I T Pl 1L
TEe I @FE @RR AR 39 [
FAFSIA A T4 2+9=11
State two differences between central
bank and commercial bank. Explain
quantitative credit control measures of
the central bank.

7. (a) {@WW’T@@W’HWWI
SR FCF I TR €l | 5+6=11

Distinguish between free trade and
protection. Give the arguments in favour
of protection.
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(8)

we_]T/ Or

(b)) SBAEH AR gEEEEE Ra wwn
Wﬂﬁﬁ%ﬂlm?ﬂm
TTEY 91 9+2=11

Explain, with example, the comparative
advantage theory of international trade.
State its limitations.

% &k
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